NRIsurv: net reclassification index (NRI) under survival settings

This program can be used to calculate the net reclassification index (NRI) under survival settings, e.g., NRI between two Cox proportional hazards models. Continuous NRI and categorical NRI will be calculated with standard errors and confidence intervals using bootstrap. Sub-statistics of NRI for events and non-events are also given. Bias-corrected confidence intervals for bootstrap should be used for all statistics.
Input and specifications
NOTE: Data must be stset before running the program.
syntax: NRIsurv varlist [if] [in] , riskcut(numlist) [other options]
varlist = risk_old risk_new
risk_old : predicted risk score from the base model
risk_new: predicted risk score from the new model
Options-
riskcut: cut points for calculating categorical NRI. More than one cut points can be listed, required.
ftime: time for the predicted risks, default 999

Sample command for running the program
bootstrap _b ,rep(10) seed(617) nodots notable noheader: NRIsurv risk1 risk2, riskcut(.2 .4) 
estat bootstrap
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Output results
(BC) bias-corrected confidence interval table:
nri_cat: categorical NRI using user-specified cutpoints, for both events and non-events
nri_cat_evt: categorical NRI using user-specified cutpoints for events only
nri_cat_nev: categorical NRI using user-specified cutpoints for non-events only
nri_con: continuous NRI overall, for both events and non-events
nri_con_evt: continuous NRI for events only
nri_con_nev: continuous NRI for non-events only




